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PC 203: Computer Organiiation and architectur® /

Max marks:20

; e of YK word
QA1 A virtual memory system has an address space of 8K words, a memory ng:i:ng : L!time intz'rf:ld [())age
and block sizes of 1K words. The following page reference changes O__G?U" g Y - (Only
page changes are listed. If the same page is referenced again, it is not fisted T :
420126140102357 Il s .
Determine the four pages that are resident in main memory after eacht page referen’ 2 change if the
replacement algorithm used is (i) FIFO (ii) LRU (5 marks) "

: ‘ 1 :

Q2 The access time of cache memory is 100 ns and that of the main AgImory g 19{" .m}l.t is estimated that
80% of the memory requests are for read and others are for write. 72 it ratio f¢; ruading only accesses
is 0.9. A write through procedure is used. (6 marks) 't / .

(i) What is the average access time of the system considtiing otily me{ sy read cycles?
(ii) What is the average access time of the system for hotk.raad and W f} s request:?
(iii) What i< the hit ratio taking in to consideration for Wiils cycles?

.. Q3 An instruction #t address 021 in the basic computer has 1 =0, an operation c/ide of the AND instruction; ..
«nd an address part equal to 083 (all numbers are in hexadecimal). The mi nory word at address 183
cortains the operand B8F2 and the content of AG is A937. Using instruction c .le, determine the conl!'tts, '
of i, following re:gisters at the end of the execute phase: PC, AF. DR, AC, ai/ . IR. Repeat the probIErﬂlﬁix '.
more times starting with an operation code of another memory-reference ingt :ction (9 marks) ’ '
‘ ’ or ‘ {

Dascribe tis indtruction cycle state diagram with interrugts 3 izttt
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